LIRS

No.1
IR & g By | BHE | TEHE & &
T RIFF/\E# HPPEEFZ O A ZES) L=5.00m ¢ 150 x 13
BKEMET " $ 50 ¥ 2 HhERRELT
HPPE® 150 |HPPE(E%) L=5.00m ¢ 150 PN 3
HiVP  L=4.00m ® 50 x 2 R Ed
EFV4 vk ¢ 50 & 1
EFEZLTa1—Y @75% ¢ 50 {[E] 1
EFF—X (M%) @150% 100 | 1& 1
" @150% ¢ 75 & 1
EFRUR (FS2) ¢150%x11° 1/4| {& 1
" ¢50%x22° 1/2 | & 1
PED3A bk ¢ 150 {& 1
PVUafk ¢ 150 & 1
ANEE GRUER) ¢ 150 x 45° 1@ 2
ANEHE (BEER) @50 x 45° & 2
VEPEEMLS ¢ 50 & 1
ANERGEEER) ¢ 150 & 1
BRI —b W=150S m 84.3 60.0+18.1+6.2
TEUFHRET o050 | FRELTF @50 = 1
BV GRIUER) 1va7 i+ ®50 & 1 XREmMUE
BhlHvsryk(EBEER) ®50 1@ 1 XREmMUE
TtUH=E H=600 #H 1
HARBREI 675 JHAE 75 = 1
WEsFHF H=100 ¢ 75 1& 1
ANEBFFEFRTFEGRUER) $150% 75 1@ 1
T3 MEM 75 & 2
SHRRE H=600 #H 1
HWKOEL  ([URILE2KE GRUER) ®150% ¢ 20 1@ 4
BLAHBF ®20 & 4
HiV vk ¢ 20 & 4
HITJLAR ¢ 20 1& 8
HiVP  1=4.00m 20 x 2 45mAER(1.5m X 144, 1.0m x 344)
BRSO —b W=150S m 25 25m7AR(1.0m X 15, 0.5m x 31&)




LIRS

No.2
BRiRB e Rk B | 28E | EEHE & &
E BRIIR HPPE(EF2 Ot A 2EE) L=5.00m $ 100 X 54
Bk EMET |HPPE(EE) L=5.00m $ 100 X 3
HPPE® 100  |HiVP  L=4.00m ® 40 X 2
EFF—X (%) ® 100 % ¢ 50 & 2
EFRUR (FS) @¢100x11° 1/4| 1A 1
" $50%x22° 1/2 & 1
" $50x11° 1/4 | & 1
PVZaq ok ¢ 100 & 1
AHEEE GRYER) ¢ 100 X 45° & 2
ANBHEEEER) ¢ 40x 45° & 4
AR EE @50 % @40 & 2
BR—bk W=150S m 298.4 265.0+18.2+7.4+7.8

HYIFFZET ¢ 100|—KE YT — LTI FHF GRUER) ¢ 100 H 2
HUH=E H=800 #A 1
" H=600 8 1
HHBEI 650 |FREMTYIF ®50 = 2

BhlHVvrykRUER) (27 @50 & 2 XEFEmMmUL

BV ybGEEER) ®50 & 2 XREmUE
tUH=E H=600 #H 2




LIRS

No.3
BRiRB e Rk B | 28E | EEHE & &
HAKPIBT  |BHaTLSHEFAIEMEaKE GRUSRE)| ¢ 100X ¢20 1@ 1 XREmUE
YRV KEE RUER) $100x 25 {& 1
" $100x ¢ 20 1@ 14
ALAHMF 25 & 1
" ¢ 20 & 14
HiV4 vk 25 & 1
" ¢ 20 & 14
HIT/LAR ®25 & 2
" 20 & 28
HiVP  =4.00m 25 X 1 1.0m#AE%(1.0m x 144)
" ¢ 20 X 7 26.0m7nER(2.5m x 84, 1.0m x 644)
SKXT LR (PPER) $20 & 2 XREmUE
RUZFLURAT(158) 2BE ¢ 20 m 1.0 1.0m7AER(1.0m X 144)
BRI —b W=150S m 20.0 20.0m%E&(2.0m x 84, 0.5m x 844)




SR CES

No.1
R R4 £ FR b xS B | SU8E | EEHE E &
& AFNER | RIIFLUERET 150 m 78.1
EKEMBRT " ®50 m 2.7
E-—ILEMHRT ¢ 50 m 35
RVIFLUERFI (REES) | ¢150 10#F | O 13
" ¢75 10#F a 1
RVIFLUERFI (RUEES) | 0150 20#8F | & 3
" $50 20#F | &EFF 2
RYIFLUEYMT 150 a 7
" ®50 A 5
AN=AILBFITGRIYER) 150 a 7
AHZHILBFETGEEER) ¢ 150 O 2 ANERTED
" ®50 = 6
HFHHRI—k m 84.3 60.0+18.1+6.2
WKERERT HKEFRE H 0.04 84.3m/2,0008=0.04H
HYFHFHBETL ¢50|LLIFHRET 50 = 1
RYUIFLUEBRET 50 i 2
HENOREERLAAES ®50 a 2
FREFZRET H=600 #A 1
BERE L5 1
HAMRRERET [HARERET 75 X 1
AN=HIBFITGRYER) ¢ 150 a 2
ITSUUHMFT ®75 i 1
RERET H=600 #A 1
HERE L5 1
KB YRILDKEFETL RYER) 150 x ¢ 20 1@ 4
HENAZEERLAAES ¢ 20 A 4
E-—ILEM/EZT $20 m 45
TSH#FT $20 i 24
FHHRI—k m 2.5




FHR

No.2

R R4 e b xS B | SUHE | EEHE E &
HE IR RUIFLUERET $ 100 m 283.2
EKEMBRT " ®50 m 7.1
E-—ILEMHRT 50 m 2.0
" ®40 m 6.1
RVIFLUERFI(REES) | 0100 10#F | O 54
" $50 10O#F [ O 2
RUIFLUERFTI (BEES) | 6100 208F | & 3
" ¢50 20#F | &7 2
RUIFLUEYMT $ 100 a 6
AN=AILBFITGRIYER) 100 a 5
AN=HIHFITGEREER) ¢ 100 i 1
" ®50 = 2
" @40 a 10

EBRRI—b m 298.4 265.0+18.2+7.4+7.8

BKEHERT HWKEFE A 0.15 298.4m/2,000H=0.15H
HOHBEI ¢ 100|HLYRBET ® 100 B 2
AN=HIBFITGRYER) $ 100 a 4
FREFZRET H=800 #A 1
RERET H=600 #A 1
HERE L5 2
Y15 E T ¢ 50 L) FERIE T ®50 = 2
RUIFLUEMRFT ®50 a 4
HENOREERLAAES ®50 a 4
FREFZRET H=600 #A 2
BERE L5 2




SR CES

No.3
R R4 £ FR b xS B | SUHE | EEHE E &

KB YRILHDKEFETL RYER) ®100 % 25 1@ 1
" @100 % ¢ 20 & 15
HENOREERLAAES 25 A 1
" ®20 = 15
E-—ILEMZT ¢ 25 m 1.0
" ®20 m 26.0
RUIFLUERET ¢ 20 m 1.0
RYUIFLUEMRFT ®20 a 5
TSH#HFT ¢ 25 m| 6
" ®20 A 84
HFHHRI—k m 20.0




T I #%H = X No.1
£ L b3 H B 4 = RETHME
8 BIfF/\ER
BlKEMERT M R4 T H=600 &:ﬁﬁ@ 060 m X 0840 m 781 m = 39.36 m3
H=600 i) 060 m X 0723 m 62 m = 269 m3
&5t = 37.37 m3 40
=EH 060 m X 0100 m 781 m = 469 m3 5
e _ WrE @ 060 m 0.380 m 781 m = 17.81 m3
BRERLT IR HrE® 060 m X 0263 m 62 m = 098 m3
&5t = 1879 m3 20
BHERLT FEL FE®. @ 060 m X 0290 m 843 m = 1467 m3 10
RIAET = 2107 m3 20
TERET t=10cm RC-30 060 m X 843 m = 50.58 m2 51
TERET t=8cm M-30 060 m X 843 m = 50.58 m?2 51
RAsEHZET t=3cm FEAL 060 m X 843 m = 50.58 m2 51
AEIBASTHET (A AOMEI) t=4cm ok 1 080 m X 843 m = 67.44 m2 67
AsTiZ=hR U1 T t=4cm 781 m X 4 % = 31240 m 312
AsTREEhRBERE T t=4cm 080 m X 781 m = 62.48 m?2 62
R AsEH = MR B T t=3cm 060 m X 843 m = 50.58 m2 51
AsTRZE R B - 0 T = 402 m3 4
CoffiZE R Yl T t=10cm 62 m 4 % = 2480 m 25
CoffZE R Fg R T t=10cm 080 m X 62 m = 496 m?2 5
Coffi Bl - 7 T = 050 m3 0.5




T I % = & No.2

£ 1 ]RO% wm B8 # = RETHE
HWKERBRT |HEHEKRET H=600 060 m X 0.686 m 25 m = 1.03 m3 1
HRERLT SR 060 m X 0226 m 25 m = 0.34 m3 0.3
EEERLT H=600 060 m X 0290 m 25 m = 044 m3 0.4
BT AMET = 055 m3 0.6
TEKRiET t=10cm RC-30 060 m X 25 m = 150 m2 2
tE®RET t=8cm M-30 060 m X 25 m = 150 m2 2
{RAsEHET t=3cm E3zk ) 060 m X 25 m = 150 m2 2
AEIBAsTHET (AAKET) t=4cm ZHI 080 m X 25 m = 200 m2 2
AsEHERR YT T t=4cm 250 m X 4 % = 1000 m 10
AsSHiEFREERE T t=4cm 080 m X 25 m 200 m2 2
RAsEHIE IR T t=3cm 060 m X 25 m = 150 m2 2
AsSHETHER - 5 T = 0.13 m3 0.1




T I #%H = X No.3
£ L % H B 4 = HEtH=E
mE RIIER
BoKEMERTL H=600 B 060 m X 0723 m X 152 m = 6.59 m3
BEBRIET H=800 BrE® 060 m X 0985 m X 2707 m = 159.98 m3
H=600 BRE@ 060 m X 0785 m X 125 m = 589 ma3
=111 = 172.46 m3 170
e _ WEQ 060 m X 0263 m X 152 m = 240 m3
BRERLT A HEA. @ 060 m X 0325 m X 2832 m = 55.22 m3
&5t = 57.62 m3 60
B E LT etk &'ﬁiﬁ@\@ 060 m X 0290 m X 277 m = 482 m3
i) 060 m X 0490 m X 2707 m = 7959 m3
=111 = 8441 m3 80
RIAET = 78.68 m3 80
TRERET t=10cm RC-30 060 m X 2984 m = 179.04 m?2 179
TRERET t=8cm M-30 060 m X 2984 m = 179.04 m?2 179
RAsEHZE T t=3cm FR R 060 m X 2984 m = 179.04 m?2 179
AEIBASSHET (A HEI) t=4cm ok 1 080 m X 2984 m = 238.72 m2 239
AsTiZ=hR U1 T t=4cm 2910 m X 4 % = 116400 m 1160
AsTREEhRBERE T t=4cm 080 m X 2910 m = 23280 m2 233
R AsEH = MR B T t=3cm 060 m X 2984 m = 179.04 m?2 179
AsERZERREHR- 0 T = 1468 m3 15
CoffiZEhir 1 i T t=10cm 74 m X 4 % = 2960 m 30
CoffZE R Fg R T t=10cm 080 m X 74 m = 592 m?2 6
Coffi Bl - 7 T = 059 m3 0.6




T I #%H = X No.4

£ L BO% # B 4 = HEtH=E
HMAKEMZRTLT |HHWKEL H=800 060 m X 0.886 m 200 m = 10.63 m3 10
HHIERLT TSR 060 m X 0226 m 200 m = 271 m3 3
BEWIERLT H=600 060 m X 0490 m 200 m = 588 m3 6
RINET = 410 m3 4
TERET t=10cm RC-30 060 m X 200 m = 1200 m2 12
TRERET t=8cm M-30 060 m X 200 m = 1200 m2 12
RAsEHZET t=3cm FEAL 060 m X 200 m = 1200 m2 12
AEIBASGHET (AHEL) t=4cm ok 1 080 m X 200 m = 16.00 m2 16
AsERZERR UM T t=4cm 2000 m X 4 % 80.00 m 80
AsTHEEhRBERE T t=4cm 080 m X 200 m 16.00 m2 16
R AsErEE iR FR P T t=3cm 060 m X 200 m = 1200 m2 12
AsTRZE R B -0 T = 1.00 m3 1




6150 HPPE @2 Kk &

faran

=l Hws  HE BRI\ ERR
UEE (m) DIHFNTJ
5 OB W B R |0 ERE - | AR o W=
B
-1 Z.-1 Z.-2 z.-3 Z—4 O-® (m)
HPPE 150 5. 000 4. 000 0. 800 4. 800 0. 200 2 1
(=g
HPPE
ER= 150
o E
%
z-1 z.-2 z.-3 Z.—1 Z-5 HEE|  5.000
HPPE 150 5. 000 5. 000 5. 000
HPPE 150 5. 000 3. 000 1. 500 4.500 0. 500 2
HPPE 150 5. 000 2.500 0. 700 0. 600 3. 800 1. 200 3
i 20. 000 14. 500 3. 000 0. 600 18. 100 1. 900 7
20. 000 14. 500 3. 000 0. 600 18. 100 1. 900 7




»100 HPPE fd K % 4] & # Bes e B

UEE (m) DIxNF
BOEM B R |0 ERE S | I %
&
-1 Z.-1 Z.-2 z.-3 Z—4 O-® (m)
HPPE 100 5. 000 3. 000 2. 000 5. 000 1 1
(=g
HPPE
0 g oE
5
z-1 z-2 z.-3 Z.—1 Z.-5 = 100
HPPE 100 5. 000 2. 500 1. 000 3. 500 1. 500 2
HPPE 100 5. 000 2. 800 2. 200 5. 000 1 HahE| 5.000
HPPE 100 5. 000 4. 000 0. 700 4.700 0. 300 2
5 20. 000 12. 300 5. 900 18. 200 1. 800 6

20. 000 12. 300 5.900 18. 200 1. 800 6



$50 HPPE fid K & U & # B TN BN\ EES
WEE  (m) DIAT)
= Par Par /4 o : ,/:& t * I
5 OB W B R |0 ERE - | AR o W=
-1 Z.-1 ) z.-3 Z—4 O-® (m)
HPPE 50 5.000 2.100 2.000 0.700 4. 800 0. 200 3 1
T
HPPE 50 5. 000 2.500 1. 500 1. 000 5. 000 2 HPPE
g
%
-1 -2 -3 44 45 ER= 50
HEE|  5.000
7 10. 000 4. 600 3. 500 1. 700 9. 800 0. 200 5
10. 000 4. 600 3. 500 1.700 9. 800 0. 200 5




$50 HiVP fd K & b B F B TN BN RERS
UEE (m) DIHFNT]
= Par Pirs A o ",:E t * I
&R OEW R |OERE " RE (m) 2 W o
Z @J B =
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 HiVP 50 4. 000 2. 000 1. 000 1. 000 4. 000 1
(=g
2 HiVP 50 4. 000 1. 000 0. 500 1. 500 2. 500 HiVP
= 50
HEE|  4.000
3 8. 000 3. 000 1. 500 1. 000 5. 500 2. 500
8. 000 3. 000 1. 500 1. 000 5. 500 2. 500




40 HiVP K K & B & £ B TN BN RERS

UEE (m) DIHFNT]
B mm R |D ERE S ) RE (m) 2 W o
&
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
HiVP 40 4. 000 2.500 0. 800 3. 300 0. 700 1
(=g
HiVP 40 4. 000 2. 000 0. 800 2.800 1. 200 HiVP
HR= 40
HEE|  4.000
i 8. 000 4. 500 1. 600 6. 100 1. 900
6. 100 1. 900

8. 000 4.500 1.600



